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1. BEEROE
(1) BEH UL
OFEAR FE#E A 1 1 0
FEAHA PE 2 BRI S 1 1 0
O B Bh 4 40,762 34,453 6,309
HiBh 4 40,762 34,453 6,309
i Bh 4 14,551 12,071 2,480
B4 Bh 4 13,106 11,191 1,915
B4 13,105 11,191 1,914
@FEILAE 28 28 0
HEN 4% 28 28 0
BEUNEET 40,791 34,482 6,309
(2) # 55 # H
1 P 4,092 3,182 910
N 432 432 0
(rd=E=3-¢ 432 432 0
e 12 12 0
mHE 9 9 0
B 131 131 0
WEE 280 280 0
fif 0 0 0
QOFEB R 3,660 2,750 910
TE R 3,660 2,750 910
R 2,735 1,973 762
g 463 315 148
e 2 2 0
mHE 190 190 0
BB 233 233 0
55 R 25 25 0
A4 12 12 0
TH% 0 0 0
2 FEEH 38,558 32,159 6,399
OE PR 4,383 2,945 1,438
R 1,658 1,229 429
SieE ¢ 5 4 1
WEE 150 144 6
mHE 276 274 2
BB 89 89 0
Zitkt 310 310 0
5 R 36 36 0
TH%E 1,000 0 1,000
A4 0 0 0
R K= EE=¢ 859 859 0
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ORIV T T 5,073 5,073 0
WEHE 340 340 0
i 239 239 0
T 2,315 2,315 0
BB 361 361 0
ZRERt 1,670 1,670 0
55 B 148 148 0
THE 0 0 0
ORI IR 29,102 24,141 4,961
R 0 0 0
iy ¢ 0 0 0
TEFY 0 0 0
WEHE 103 102 1
i 158 228 A 70
T 52 52 0
BB 22 22 0
ZRERt 12,514 5,369 7,145
55 B 28 28 0
THE 16,225 18,340 A 2,115
BEERE 42,650 35,341 7,309
LR EIBREE A 1,859 A 859 A 1,000
L HA — iR IE LR BA BE 1S R 2R A 1,859 A 859 A 1,000
— IR IEREA B RS 10,458 11,317 A 859
— AR IEREA EEIR A S 8,599 10,458 A 1,859
I $5 % IE Bk BA EE BB D BB
TIMHFHE 0 0 0
L 245 T IE BRBA EE TS R 2R 0 0 0
EEERIAEREERS 1,100 1,100 0
IEEEREAEIRARES 1,100 1,100 0
MR ESHRES 9,699 11,558 A 1,859
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